// Essential Kit //

(

SynthDef(\snare,{ // Use the Name of this Synth (snare) to Load it in to a Pbind //


arg amp = 0.5, freq = 120;

Out.ar(



0, Pan2.ar(SinOsc.ar(freq) - WhiteNoise.ar(0.5, 0.5) * EnvGen.kr(Env.perc(0.001, 0.1, 1, -5), 1, doneAction:2),0, amp)

)}).add;

SynthDef(\bass_drum, {

arg freq = 80, amp = 0 , pan = 0, attack = 0.001, release = 0.2;

var  bassOut;

bassOut = Pan2.ar(SinOsc.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\hat, {


arg out = 0,  amp = 0.5,  pan = 0, attack = 0.002, release = 0.3;

 var env, hatOut, hat;

 env = EnvGen.kr(Env.perc(attack, release, 1, -2), 1, doneAction:2);

 hat = Klank.ar(`[ [ 6563, 9875 ],

  [ 0.6, 0.5 ],

  [ 0.002, 0.003] ], PinkNoise.ar(1));

 hatOut = Pan2.ar(hat*env, pan, amp);

 Out.ar(0, hatOut);

 }).add;

SynthDef(\tom, {

arg freq = 175, amp = 0 , pan = 0, attack = 0.01, release = 0.8;

var  bassOut;

bassOut = Pan2.ar(SinOsc.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

// More Drums //

SynthDef(\bass_saw, {

arg freq = 80, amp = 0.5, pan = 0, attack = 0.001, release = 0.6;

var  bassOut;

bassOut = Pan2.ar(LFSaw.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\tom_saw, {

arg freq = 175, amp = 0 , pan = 0, attack = 0.01, release = 0.8;

var  bassOut;

bassOut = Pan2.ar(LFSaw.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\bass_square, {

arg freq = 80, amp = 0.5, pan = 0, attack = 0.001, release = 0.6;

var  bassOut;

bassOut = Pan2.ar(LFPulse.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\tom_square, {

arg freq = 175, amp = 0 , pan = 0, attack = 0.01, release = 0.8;

var  bassOut;

bassOut = Pan2.ar(LFPulse.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\bass_tri, {

arg freq = 80, amp = 0.5 , pan = 0, attack = 0.001, release = 0.2;

var  bassOut;

bassOut = Pan2.ar(LFTri.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

SynthDef(\tom_tri, {

arg freq = 175, amp = 0.5, pan = 0, attack = 0.01, release = 0.8;

var  bassOut;

bassOut = Pan2.ar(LFTri.ar(freq)  * EnvGen.kr(Env.perc(attack, release, amp, -4), 1, doneAction:2), pan, amp);

 Out.ar(0, bassOut);

 }).add;

)

// Example //

(

t = TempoClock(80/60);

Pbind(


\instrument, "snare", // Inout the name of a drum sound here //


\dur,Pseq([0.25, 0.25, 0.5, 0.5], inf),


\freq, 200

).play(t);

t = TempoClock(80/60);

Pbind(


\instrument, "bass_drum",


\dur,Pseq([0.25, 1, 0.5, 0.5], inf),


\freq, 80,


\release, 0.2,


\amp, 0.8

).play(t);

t = TempoClock(80/60);

Pbind(


\instrument, "hat",


\dur,Pseq([0.25], inf),


\release, 0.1,


\amp, 0.4

).play(t);

)

